TBEBWTY > b 1A TR

meon 0 A A/
":‘(‘\WV/VZ{:"} - )g“ - \
{ g szf»'*im t’ L = A/ ( 8 ) <:r5277; :jci/gaaasm

Hhor 32 t-TWET, BhzZ3ALIZ 82 t50ELA,
HhdlE FASNT AT WYFELED,

L _ F
O

o &)
[ | &
MADZ

8z hr C] < 10

3% | v Zzl:ozfocmo
8-4 2i ©
| Qv ol %541 C] TEZ

D

{

@ R—=IUL AT K2 TT 0,

OO0 .  OO0O0O

O TOOOO |[ H+[ )=
21 OO0 O000

Q0 000 | [ )=l

L7 LELL,

P2+9= |®+9= |®4+8= |

BEZ

Bl 272D L3z AT 3 U0ELe,

3+8||9+5]|8+8]5+7]|6+9]

947Jé4@k%@ﬁ8;vjé;@

22N EELW gl O% ot ELs,

5+90=14 () 6+5=12 ()
O+5=14 () 4+8=15 ()
8+8=18 () 5+9=13 ()
o+2=12 () 7+5=12 ()

@ otemiz 1o Qo g% i, 2227
| 31202 ALXAD LE% 4> SWELe,

I+ = [+ =13
4 = [+ =13




